Zadatak 21.  Odredi umnoZzak i kvocijent brojevanapisanih u trigonometrijskom obliku:
T .. T
1) 71 = \/§(cos§n+| sin §ﬂ) ,
'y = \/i(cosz +i smz) :
T .. T
2) 71 = 2(coszﬂ+| smzﬂ) ,
Z = 3(0032 +1sn Z) ;

3) 71 = 3(cosn +isn 7)

2= 2(00372£1 +isn 21)
RjeSenje. 1) 21:\/§(cos§+ism§), 2_\/§(c052+isin1)
= \/é(cos(g + %) + i sin(g + %)) \/é(cos% +isn %) ,
win P on(3 - §) (3 5)) - Plomf a0

27 = 2(cos% +isin E) V= 3(008% +i sm%) ,

2= 6(005(4 + Z) +|sin(% + %)) = G(Cosg +ising) =6,

zl:zz_é

3) 7z = 3(003 +isinz ) 7 = 2(cosz—1+|sm21)

e o{on( 3+ £ (3 4 £)) - ofants +1an),
3 2n

2122222(008(7; ;_)-FISII’](’; ;_)) 2(COS%+ISII’IE)





